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QUESTION 1

Your customer has a Fibre Channel SAN environment and has properly zoned servers for storage with front end
controller ports. When an administrator goes to initialize a provisioned volume, it is not seen on the server. What would
cause this problem1? 

A. an unplugged cable 

B. a multi-path I/O failure 

C. a corrupted volume 

D. improper LUN masking 

Correct Answer: B 

 

QUESTION 2

At which point in the communication chain is multi-pathing initiated? 

A. the switch level 

B. the storage array level 

C. the operating system device driver level 

D. the physical cable interface level 

Correct Answer: B 

 

QUESTION 3

Software Defined Storage (SDS) uses which type of technology to function? 

A. replication 

B. virtualization 

C. authentication 

D. Application 

Correct Answer: B 

 

QUESTION 4

According to SNIA, what is a data structure signed with a digital signature that is based using a public key and confirms
that the key belongs to the subject identified in the structure called? 
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A. certificate 

B. public key 

C. secure key 

D. private key 

Correct Answer: A 

 

QUESTION 5

What are two characteristics of Challenge-Handshake Authentication Protocol (CHAP)? (Choose two.) 

A. CHAP uses a parity algorithm to jumble the credentials for security. 

B. CHAP uses a Point-to-Point Protocol (PPP) method. 

C. CHAP uses a hash mechanism so the clear text authentication piece is never sent. 

D. CHAP is required for iSCSI initiator authentication 

Correct Answer: BD 
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